Installation Instructions - Receiver Mounting on Skinless Trailer

Iltem Part #

Description

1122760
1200999
1703576
1703577
1703579
1700419
1700428
1702926

ONoOGTRWN

SMART2™ Receiver Mount - Skinless Trailer
Hex Nut - 3/8” - SS

Lock Washer - 3/8” - SS

Flat Washer - 3/8" - SS

Car) Screw - 3/8"x 1" - SS

II;I 0

n Lock Nut - 5/16”
at Washer - 5/16”
Cap Screw - 5/16”" x 7/8”

NOTE: Receiver mount bracket is designed to support @,
wireless receiver where suitable flat, wide, vertical mounting & <> WIRELESS
surface on trailer does not exist. \

RECEIVER

STEP 1: Determine location on components of trailer frame to

mount wireless receiver.

NOTE: Receiver mount bracket can be rotated to mount left,
right, top or bottom. Bracket can be mounted as shown or with
flanges facing receiver.

RECEIVER
MOUNT

STEP 2: Using receiver mount bracket as guide, mark and drill
5/16" holes and fasten bracket to trailer with screws ©,

flat washers @, lock washers © and nuts @.

STEP 3: Fasten wireless receiver to bracket with screws ©, flat
washers @ and nuts @. Route wires through hole in

bracket.

PO BOX 713 = 2309 SHUR-LOK STREET
YANKTON, SOUTH DAKOTA 57078-0713
PH. 1-800-474-8756 = FAX 605-665-0501

BRACKET

RECEIVER
MOUNT
BRACKET

TRAILER
COMPONENT

P/N 1124488 Rev. A

| TRAILER
COMPONENT

SHUR-CO® HELP LINE
CALL: 1-866-748-7435
www.shurco.com



